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Make sure that there are 20 questions. Each question is worth 5 points.
1. An important difference between CAPM and APT is

A) CAPM depends on risk-return dominance; APT depends on a no arbitrage
condition. '

B) CAPM assumes many small changes are required to bring the market back to
equilibrium; APT assumes a few small changes are not required to bring the
market back to equilibrium.

C} implications for prices derived from CAPM arguments are stronger than
prices derived from APT arguments.

D) all of the above are true.

E) both A) and B) are true.

2. Which of the following is (are) true regarding the APT ? )
I} APT does not require all stocks to follow the APT pricing equation.
IF) More than one factor can be important in determining returns.
IIT) All well-diversified portfolios satisfy the APT pricing equation.
IV) Tt doesn't rely on the market portfolio that contains all stocks.
(A} ILTIL and IV (B)Tand IV (C) T andI0 (D)L I, and IV
(E) LIILII, and IV
3. Is the statemient “CAPM is based on the assumption that investors follow the
Portfolio Theory ” correct ?  (A) Yes (B)No (C) Depends.
4. Equity premium puzzle studies may be subject to bias because
A) an inappropriate market index was usec.
B) the indexes we used did not exist for the entire period of the study,
C) the appropriate specification of asset pricing model is controversial
D) data of both domestic and foreign financial markets are used
5. On March 1, LKK submits a franc-denominated bid on a project in France. LKK
will not learn until June 1 whether it has won. the contract. What is the most
appfopriate way for LKK to manage the exchange risk on this contract?
A} sell the franc amount of the bid forward for U.S. dollars
B) buy French francs forward in the amount of the contract
C) buy a put option on francs in the amount of the franc exposure
D) sell a call option on francs in the amount of frane exposure
6. Assume an average dividend payout rate of 100% for both U.S. and Japanese
companies. Suppose the average P/E ratio for Japanese firms is 38 and 16 for U.S.
firms. Based on the dividend growth mode}, in order for Japanese and U.S.
companies to have the same average cost of equity capital, how much higher
would the Japanese annual earnings growth rate have to be?
(A) 7.24% (B) 6.31% (C) 5.83% (D) 8.39% '
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7. Which of the fol]m.:ving mode]sis most related to the method of estimating the
expected return for a stock using the earnings forecasts provided by financial
analysts 7 (A) CAPM  (B) APT {C) EVA (Economic Value Added) (D) Cash
dividend discount model.

8. When borrowing rate equals lending rate, which Capital Allocation Line (CAL)
should the investor choose to combine with the efficient frontier?

I) with the highest reward-to-variability ratio.
I} that will maximize his utility.
IIE) with the steépest slope.
IV) with the lowest slope.
(A Tand Il (B)landIV (C)Hand IV (D)Ionly (E)}L I, and ITI
9. An unspecified number of common shares as employee stock bonus { & T SZE
#L) are granted at the beginning of the year to John. These common shares are
expected to be delivered to John at the end of the year. The value (at the beginuing
of the year) of the above employee stock bonus can be best apalyzed using (A)
CAPM (B) NPV rule (C) Option Theory (D)) EVA model.
10. Which of the following statements is true about models that attempt to measure
the empirical performance of the CAPM?
(A) The conventional CAPM works better than the conditional CAPM with
human capital. (B) The conventional CAPM works about the same as the
conditional CAPM witl human capital. (C) The conditional CAPM with human
capital yields a better fit for empirical returns than the conventional CAPM. (D)
Adding firm size to the model specification significantly improves the fit in the
conditional CAPM. (E) Adding firm size to the model worsens the fit.

11. Which of the fdliowing statements are false?

L In a successful takeover, the shareholders of the acquiring firm usually realize
substantial gains.
11. It appears that the gains reaped by target firms from tender offer takeovers are
higher than the gains realized from mergers.
HIl. On average, friendly mergers may be arranged at lower premiums than hostile
tender offers.

A) LI, and IIT

B} Iand IY only

C) Ii and I only

D) Tonly

E) 1] only

12. ABC Co. is considering giving a 2% cash discount to its customers who pay within

10 days. (The firm currently offers no discount.) If it institutes this policy, it is likely
that:

1. ABC will experience a net use of funds.
IL. The buyers will be able to reduce their cost of goods sold.

III. Buyers who do not take the discount will be using an expensive source of
financing.

IV. ABC will find that its average collection period will increase.
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A) LIL I and IV
B) It and IT] only

C) I1, 11T and IV only
D) Tand ill only

E) Tand IV only

13. An increase in which of the following, alt else the same, leads to an increase in put
option values?

I, Exercise price
1. Dividends
II1. Stock price
IV. Volatility
A) T and TV only
B) I1, 11}, and IV only
C) Iand IIf only
D) I, 11, and III only
E) I, Il and IV only

14. Which of the following conclusions can be correctly drawn from the capital structure
puzzle?

1. In the framework of the static theory of capital structure, a firm can precisely
identify its optimal capital structure,
I1. Firms with tax shields from other sources such as depreciation will benefit less
from leverage.
1II. Firms in lower tax brackets will tend to benefit less from increases in financial
leverage.

A) Tand II only

B) II and IIT only

C) I only

D) I, Hand TII

E) I only

15. Which of the following are beneficial attributes of leve_raged buyouts?

I. Leveraged buyouts often create entrepreneurial incentives for managers.
1I. The required repayment of the debt used in the buyout induces reduced
managerial efficiencies.
IIL. Conflicts of interest between shareholders and managers are increased.
IV. Bureaucratic obstacles are often eliininated.

A) Tand 11l only

B) I, IT and Iil only

C) L I, III, and IV

D) Tand IV only

E) I only

16. Rank the following goals in increasing ordcr of importance in a compromise
dividend policy.

I. Avoid dividend cuts
I1. Maintain a target debt/equity ratio
II1. Avoid the need to sell equity
IV. Avoid cutting back on positive NPV pro_| ects
CAY IV, LIL IO
B) IV,II, 1,11
Cy IV, LIIL 1T
Dy LH,IV,III
E) I, 11T, IV, 1
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17. ‘Which of the following represent an increase in cash, all else the same?

I. Long-term debt is increased
II. Inventory is sold at a profit
I1L. Fixed assets are purchased
IV. Receivables are factored

A) L 11, and TV only

B) Ionly

C) I only

D) I and IV only

E) II and I} only

18. A commercial airline requires jet fuel to operate its planes. Which of the following
actions would allow the company to lock in the acquisition cost of its jet fuel?

I. Buy a futures contract on jet fuel.
I1. Sell a futures contract on jet fuel.
I11. Buy a futures call option on jet fuel,
IV. Sell a futures call option on jet fuel.
A) Tand 1 only
B) If and IV only
C) Ionly
D) II only
E) 1V only

19. Which of the following are false regarding leasing?

1. Leasing provides a source of off-balance sheet financing.
I1. By leasing, the lessec’s income statement will be weaker.
III. Taxes may be reduced by leasing. '
IV. Unilike borrowing and purchase, leasing decreases a firm's financial leverage.
A) 1 and TIT only
B) I, II, and HI only
C) Il only
D) 1V only
E) I'and IV only

20. Which of the foliowing describes a short-run -éxposu.re of exchahge rate risk?

L. Your firm has large o0il drilling and mining interests in one of the former Soviet
republics. A new government with a distinct anti-American agenda unexpectedly
wins a majority in that country's new parliament.
IL. Your firm's wholly-owned Australian subsidiary is expanding rapidly and eamning
increased profits; meanwhile, the U.S. dollar has been strengthening dramatically
against the Australian dollar for some time now. Your firm reports consolidated
financial statements across all its worldwide operations and subsidiaries.
HI. You import computer chips from Korea for use in your U.S.-manufactured
cellphone handsets. You agree on the terms of sale and the number of chips to be
purchased 90 days in advance, but you do not pay the Korean contractor until the
chips have actually been delivered to your U.S. plant. You invoice your transaction
in the Korean currency.

A) L1l and 111

B) IIf only

C) Tonly

D) 11 only

E) Iand T only |
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PART ONE (50%):

1. State three major reasons (in fwo sentences at most) why we take samples rather than a census of the entire
population. (5%)

- 2. When constructing a frequency distribution, the following rule must not be broken;  (5%)

{a) Classes must be of equal width.

(b} Classes must be mutually exclusive so that a given value will fall in onc and only one class.

{c) Classes midpoints must be the arithmetic mean of the values of the observatiens falling within the respective

classes.

{(d) The distribution must have only one modal class (that is, there must be only one class with the largest
number of values in it).

3. There are 20 new jobs opening up at ABank. To select the best 20 from among the hundreds of applicants for
these positions, the prospective employer gives a physical exam and a written aptitude test to each applicant.
Suppose 1000 people take the test and the mean grade on the test turns out fo be 156 with a standard deviation
of 10, If nothing is known about the shape of the distribution of test scores, which of the following statements is
always true? (5%)

(a) At least 375 people scored between 156 and 170 on the test.
(b) At most, 125 people scored below 130 on the test.

() At most, 250 people scored below 130 on the test.

(d) At least 950 people scored between 130 and 170 on the test.
(e) None of the above.

4, A salesperson either makes a sale S or does not make a sale N with each of two potential customers. The simple
events and probabhilities of their occurrence are as follows:

Simple Events Probabilities
SSs 0.08
. SN 0.12
NS - 015
NN 0.65
Find the probabilities of each of the following events:
(a) {No sales are made} (5%)
(b) {At least one sale is made} (5%)
{¢) {Exactly one sale is made} (5%)

5. ABD bakery shop always carries KHH Style cake for it customers. The cakes are made fresh every day and any
unsold cake is disecarded. Each cake costs $5.00 and sells for $11.00. The demand for cake on any given day has -
the following distribution:

x 1 0 1 2 3
P(x) | 0 0.5 0.3 0.2

{a) 'What is the expected demand? (5%)

(b) What is the expected profit if the shop makes only one eake per day? (5%)
(¢) What is the expected profit if the shop makes two cakes per day? {(5%)

6. NSYSU Bookstore decided to sample the dollar amount of individual morning and evening purchases. The
manager believes that this information would help her or him develop a new marketing strategy. The data is

given in the table below: - (5%)
Morning Evening
X 1 XZ
S; SZ
N=50 Ny=40

Find a 95% confidence intervai estimate for the difference between the average purchase amounts for the two
times of day.




B RS PRt Y Ty

FHB © 832 [m% 4w L) £3 % 5

LR AR A S e s RO 711 (B S B
ERERIVEE (ORI SRR EE - T BEREE - e
PRBGRERT MALEE - AR 12 A - RIEERGEDE A 15 4 .
e 71 RRIIER RS » R S PR AR S IR - 28
MANTE TSR - RS TR A BRI - (10 5)

2. BT BRI A R R - IR S FT R - BT Histe
TR AL AT R EUR & R TR PR I B R T 2 5 EAANSE IS
{%ﬁﬁﬁéﬁﬁﬁ%’%{#E’E}Jﬁiﬂ&ﬁﬁi@ﬁiz&zﬁ%ﬁﬁﬂéﬁﬁﬂ L3, S AR WA HEHeR »
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(). FHLL ANOVA FHESEIREYf (Randomized Block Design)iefT#si(a 5t s
0.05 > FUEY F WISTAERS 3.838 » 0 F BESMEES 4.459) « (6 1)

(2). WRAEHT ANOVA BF > &R T Blocking Variable () ANOVA e
BRAEET 2 HASREH AL © RATE? (4 4

3. BIE(RRRR - RIS BNE 2 5

(1). Heteroskedasticity in the errors leads to biased estimates of the tegression coefficients
and their standard errors. _ _

(2). When the coefficient estimates in an equation have high standard errors, it shows
evidence of high multicollinearity.

(3). A model with higher (adjusted and unadjusted) R? is always better than model with
- lower R%, :

(4). Residual analysis can be employed to study the distribution of Y are normal.
(5). When you perform a regression of Y on X, you can find that the larger the sample size
and dispersion of X are, the larger the variance of the estimated slope is.
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4. RIS > BEESKEGRIIALRE - FSHESESRNERYE  UTER
B 62 43 83 EEAUMBEF PG BRONEGIEE F S HO0) FEFEHIFHX)
RS EIRIRE(X,) - LUR/ NE TR FTS 2 R MRS R

Y ERISEREE (B T
X, - ZFE &N TR

Xa + HEEAFFTS (B4 TI0)

Xy EEERER

E FRHESR
il -68.70 82.87 R-square= 0.881108
X, 0.10 0.26 Adjusted R-square= 0.861292
X . 0.31 0.11 F= 44 465
X, -0.46 2.14

S B LA T H RR EE i = R -

(D)FEETELEEEM X, Xo 2 tfl - (243)

Q) FERE X (R EE - 34

ARFERR ERUMCAT Rosquare » B{ATHEEIRM Adjusted R-square B S% 7 3 5)
(4). R LB SR RS BRE » BE AR S E S AR - BT Z 2 G 4D

(5) =18 B R EAE R H P M S AARRBIIRIEE - 24 X CRBAIRE - 3R
AR 7 (3 43)

(6).35 X FEEFFTE < BT AR » RISREL ~ t - R-square S F (EEREHLZLE > #
BRA?76 D)

(N FEEILREZY X, X, Xy BIRBE Y ZEEEAV] - AL - ReRER
RLLEINE 7 AT » ESLEELEE ? (3 72) '
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3. FHUAIEESEE T  JEFRSIARGRMATRBIL ? A)RHER Tk BYEEI4ENES
C)EEFNHRER D)S®FAE

4. B0 T HEIRHAE T
Y=f(LKG),SYISL>0,0Y I3 <0,8Y18G >0
Y=CH+I1(r+G
MIP=L,+aY - fr

Wip=3Yi3L |
HEREHGIIRG AFIFEE BYEEES ORENY DEBTHERSE BY
& Tk

5. BRI EREERPRSIEEIT > ) A)JUEIS-LMISHE] chiS#i TS B)SLR!
IS-LMAEHI M GRS C)SIS-LMIERI PRI ST 8 DYRISEURRYEIES
BRISTAR B BT AT BT 4

6. BIRFMEIET ABIFSETEEATARFE DEREETOEBELSE Of
AXINAEEFEREEH DEEEN R EEEEY BT ST aERe

7. BIFECERER02 - KRAERGBASITERI10% « BRTIABMSHR(FIE
B 1208 » FHRIRIT AR FERETAS T 1iKx 7
A)x £400 B)400<x =450 C)450<x =500 D)500<x £ 550 E)550<x

8. ELMEMBCI TR R SRNEAMZERETI0NN AR EIEAE TN - FAR
MRESE - B A)RITEHETINE BAEESMESIem OLMEE D)RTEH
HBA R

9. RHHERNTHAESIR AERIHSSIEFREG TR B EBBERRIGIR
HEEG TR ORMGEZEREFTIEG TR DESFRTRINMHRG THE B
AR VR SR T e |

10. fRIBHUELTEA - FHHE B RS R RRRA 7 A)RMIR 10008 BYEANERF X100
f# CYRREIEIA = 100(% DR i@ 1006
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1. TR R E i A R ERBEREREOR S EMTHIRE
DY BB R B TN
12. B RS
Y=C+I+G+NX.C=140+08Yy; Y, =Y -T;1=200-500r; M/P=L; L=50+0.3Y
-500r; NX=100-0.2Y

A ETIEIN00 » ISR ETEENTIB EHER A)200 B)180 C)160 D)140 E)120

ﬂﬁl’%’“%r e
RTSEREETTHY (imperfect competition market) © H3 FEFE(S and TYEEERE|—
L A - B o BE S RS AH B 5% (Standard Cournot Model) » 8L T A ETE R
PRIE(S and T)Z s EE B B i (EFI - TR = R - (HED)

P= EmfElE  Q=SHEER  Qr =THREER - TCs=S BEMEA
TCr =T REERERA

P=100-0Q, -0,

TC, =600+ 60, +0.50?

TC, =120+20, +0.20?

HERITERC BEREEEREAENE - T MESEERREERNE - TiSEERE
MEORED - L RRETIGT M -

2. EHEIG A(otal revenue, TRBEREACH - MBS A (marginal revenue, MRYENE  BIHE
SE KT (demand elasticity)f5 —~1(i.e., unit elasticity) - EEIHIEIRIL A (= 0 BT Skngis:
(=-DZBFE= - (HF5)

P: price of a normal good, {45,

Qp: Quantity demanded, FE3R,

Total revenue: TR =P Qp #Ilir A,

e = KT8 point price elasricity formula),

(a) FETEFEE 8 (compensating variation) ¥ =58 B (equivalent variation) « (--43)
(b)—EEFREREEL - & X HEHh Y - SHEES

UX,Y)= EXZ +Y cHIFEHOHETERLSS128, Bk X EEHRES B Y HESs8. &
in X EETRERS2 - Kl {E % & (compensating variation) E #f 25 4% & (equivalent
variation) o [WA/ARATETEIETE RS A s BdE ~ WETHEME - (129)

BESATER(FESE FARR RN R - ﬁ%ﬁﬁ{ﬁ HE R R AR A B A -
IREHARIE) - 2 BEFYISTHEAE -




